
T1tttt T1tttt
Bin in R4 (1800,100) (1400,1000) κ Pred. Obs.

200 GeV < pmiss
T ≤ 350 GeV

6 ≤ Njets ≤ 8, Nb = 1 0.4 1.9 1.2 ± 0.0 ± 0.2 84.6 ± 14.3 106
6 ≤ Njets ≤ 8, Nb = 2 0.6 3.0 1.2 ± 0.0 ± 0.2 55.1 ± 9.3 75
6 ≤ Njets ≤ 8, Nb ≥ 3 0.6 2.2 1.5 ± 0.1 ± 0.2 16.4 ± 3.0 16
Njets ≥ 9, Nb = 1 0.2 1.6 1.0 ± 0.1 ± 0.2 6.5 ± 1.5 11
Njets ≥ 9, Nb = 2 0.3 2.1 1.2 ± 0.1 ± 0.3 7.6 ± 1.9 11
Njets ≥ 9, Nb ≥ 3 0.4 3.1 1.4 ± 0.1 ± 0.3 2.3 ± 0.7 2

350 GeV < pmiss
T ≤ 500 GeV

6 ≤ Njets ≤ 8, Nb = 1 0.7 1.1 1.0 ± 0.1 ± 0.3 17.4 ± 6.6 25
6 ≤ Njets ≤ 8, Nb = 2 0.9 1.3 1.1 ± 0.1 ± 0.4 13.7 ± 5.3 10
6 ≤ Njets ≤ 8, Nb ≥ 3 0.8 0.9 1.3 ± 0.1 ± 0.4 3.8 ± 1.6 1
Njets ≥ 9, Nb = 1 0.3 1.0 1.1 ± 0.1 ± 0.4 1.3 ± 0.6 2
Njets ≥ 9, Nb = 2 0.5 1.1 0.8 ± 0.1 ± 0.3 1.6 ± 0.8 2
Njets ≥ 9, Nb ≥ 3 0.7 2.1 1.2 ± 0.2 ± 0.4 0.6 ± 0.4 0

pmiss
T > 500 GeV

6 ≤ Njets ≤ 8, Nb = 1 2.5 0.6 1.0 ± 0.1 ± 0.3 1.9 ± 1.5 8
6 ≤ Njets ≤ 8, Nb = 2 3.6 1.0 1.0 ± 0.1 ± 0.3 0.9 ± 0.7 4
6 ≤ Njets ≤ 8, Nb ≥ 3 3.2 0.4 1.5 ± 0.3 ± 0.5 0.4 ± 0.4 1
Njets ≥ 9, Nb = 1 1.0 0.7 1.0 ± 0.3 ± 0.4 0.2 ± 0.2 2
Njets ≥ 9, Nb = 2 1.8 1.2 1.0 ± 0.3 ± 0.3 0.1 ± 0.1 0
Njets ≥ 9, Nb ≥ 3 2.3 1.7 3.1 ± 1.0 ± 1.1 0.1 ± 0.1 0


